“MULTIPLICATION

STRATEGIES

Repeafed Addition

/ XY=

o H oYYy
\8+8+8+'—|=

N/ N/

6 +12 =73

Decomposing Strategy

ox/ =

3x /=2
3x /=2

1+ 21=4H7

Skip Counting Strategy

HX 0 -

9000

Skip count by 5s and then count by ls.
5.10.15. 20, 21. 22. 23. ZH so Hx 6 = 24

Using ls. Zs, and bs

/ X8 =

5x8:=4H0
7 x8=Ilb

HO + 16 = 56

Add a Group
O X8 =

5 groups of 8isH0. soif L
add a group of 8 to make 6
groups., it wil be H8.

Take Away a Group
G/ -

O groups of /is /0. soif 1
fake away a group of / fo
make 9 groups. it will be 63.

* ©lennifer Findley




WHICH
MULTIPLICATION
STRATEGY
DID YOU USE?

d Known Fact
d Repeated Addifion
d Decomposing
Straftegy
d Skip Counting Strategy
d Usingls, Zs, and bs

d Add a Group

d Take Away a Group

WHICH
MULTIPLICATION
STRATEGY
DID YOU USE?

d Known Fact
d Repeated Addifion
d Decomposing
Straftegy
d Skip Counting Strategy
d Usingls, Zs, and bs

d Add a Group

d Take Away a Group |

L
.




~ MULTIPLICATION STRATEGIES: -
REPEATED ADDITION

O X 3 =

.. groups in each group

@@@@@@

6\6 + O =
Z2+6 =13

O X 3=18




~ MULTIPLICATION STRATEGIES: ~
DECOMPOSING STRATEGY

4 X H =

rzxngCKNDO

HE
ZXQZBCNDCK)-=

3+8 =10

Hx H=1o




~ MULTIPLICATION STRATEGIES: -
USING SKIP COUNTING

H X O =

'—Ig pFS

OOEE ===

5.10.15. 20
530
32.34.36. 38




~ MULTIPLICATION STRATEGIES: ~

USING 18, 25, AND 58

S X H =3/

8 groups of 3=5+2Z+|groups of H
5x4H=20 20
08
2 xH=08 OLI
[ xH= OH

o X /=4

© groups of /=5 + | groups of /
OX /=35 32

~ 0/

I x /= 0/ 1




~ MULTIPLICATION STRATEGIES: *
ADD A GROUP

O X O =

5 X 6 or 5 groups of 6 =30

-"*Add another group of 6 fo solve 6 groups of 6.

30+6=36
O x6=36

3X 8=

2 x8orZgroups of 8:=10
Add anofher group of 8 fo solve 3 groups of 8.
6+ 8 =24
3x 8=

WORKS BEST WITH 3S AND 6S (USING 2S AND 55)




~ MULTIPLICATION STRATEGIES: *
TAKE AWAY A GROUP

d x 0 =

O x 6 or IO groups of 6 =60
.- lake away a group of © fo solve 9 groups of 6.
60 - 6 = B4
9 x 6 =54

H X 8 3

5 X 8 or 5 groups of 8=40

Take away a group of 8 fo solve H groups of &.
HO - 8 =37
Hx 8=37

WORKS BEST WITH!S AND 9S (USING 5S AND 10S)



This resource was created by Jennifer Findley. It may be printed and
photocopied for single classroom use. It may not e put on the Intemet, solq,

or distributed in any form. Check out my store for more resources for 39-51
grade.

Follow my blog for updates and freebies.

www.JenniferFindley.com

Thanks!
Jennifer Findley
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